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=1 1 17.2 741,821 3 12.5 519,914,729
PRI 2 17.2 741,499 4 12.1 506,699,904
KBRAF 3 14.7 632,880 1 20.5 853,241,324
e i) Bk 4 13.6 583,417 2 17.2 716,406,203
fi] L1 U 5 10.0 429,824 5 10.3 429,292,238
HOAR 6 8.3 357,700 6 7.3 304,742,965
AeifiE 7 5.7 246,829 10 2.0 82,541,997
=& 8 2.4 101,367 7 3.9 162,907,937
THER 9 2.1 91,586 9 2.2 90,786,629
S R 10 1.9 82,700 11 1.7 70,872,154
IR 11 1.2 50,295 12 1.6 68,495,519
IEEpns 12 1.0 42,202 15 0.6 26,295,537
TR IR 13 0.9 39,250 8 3.2 135,201,709
FE AR IR 14 0.9 38,656 13 1.4 58,849,469
FINR 15 0.8 35,498 14 0.8 34,767,570
] U 16 0.7 29,454 19 0.3 13,100,240
Mgt . U 17 0.4 16,224 18 0.4 15,099,188
N = 18 0.3 10,950 20 0.3 12,308,172
[i=p il 19 0.2 8,065 21 0.2 7,786,083
FA) 1| IR 20 0.2 6,760 17 0.4 18,646,773
AT 21 0.1 5,446 16 0.6 23,292,684
PR W 22 0.1 4,080 25 0.1 2,177,057
AR 23 0.1 2,200 24 0.1 3,136,320
AR 24 — 1,835 26 — 1,642,600
JEE IR IR 25 — 760 22 0.1 4,980,960
S IR 26 — 737 30 — 457,135
pSg SN 27 — 685 28 — 960,510
Fnak L 28 - 340 23 0.1 3,604,456
Ko 29 — 296 27 — 1,139,179
HARIE 30 — 270 29 — 803,800
REA L 31 — 175 32 — 167,298
o= 32 — 165 33 — 147,982
EPPR 33 — 133 31 — 169,347
& 3 100.0 4,304,099 100.0 4,170,635,668
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